



$$\begin{array}{rcl} \text{Fe} = 4 & \times & \text{Fe} = 1 \\ \text{O} = 6 & \times & \text{C} = 3 \\ \text{C} = 1 & \checkmark & \text{O} = 6 \end{array}$$

Evidence $\nearrow$: carbons iron are
not balanced.



$$\begin{array}{rcl} \text{P}_4 & - & \text{P}_4 \\ \text{O}_{10} & \checkmark & \text{O}_{10} \end{array}$$



$$\begin{array}{rcl} \text{N}: 1 & \text{N}: 1 & \\ \text{Cl}: 2 & \text{Cl}: 2 & \\ \text{O}: 6 & \text{O}: 6 & \end{array}$$



$$\begin{array}{rcl} \text{C}: 8 & \text{C}: 8 & \\ \text{H}: 20 & \text{H}: 20 & \\ \text{O}: 26 & \text{O}: 26 & \end{array}$$